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& S TeflkE BH
a—FK s Hifk | R %8 () EiE il 2l PE Hh (BAL)
30100 |75V A 243 11 5 5|BH 344
31200 |3 173 11 11 11| BRN 163
Y3015 |7 H U HE 194 16 16. 16| &M 123
31800 [IFHAEL 8, 489 97 76 76| &M 1003
31900 ¥ 173 86 86 86 | &MY 2kg
36800 Hbox x 9 2, 268 756 756 756 | B 3kg
134400 | k= k 10, 584 302 238 216 | BN 44kg
35220 XM ERHBIT 4,304 540 540 324 | BN 10kg
35300 E—R 6, 372 1,080 648 648 | B 8kg
35303 |RF v TEIAED 842 162 162 108 | B " 5kg
Y3026 Afy7 KX AL D () 864 432 432 432 | B 2kg
35400 (ZHED 1, 069 216 108 108 | &M 8kg
35402 AXED 10, 800 1,080 1,080 1,080 | BN ‘10kg
| Y3033 | ZZHAAT 3,591 59 54 32| BN T0kg
Y3037 [ALiX5 A 270 54 54 54 | BN 5kg
136200 B 1, 080 54 54 54| BH 20kg
36600 |fmFERE 4,018 97 86 86 | B 44kg
133300 Tmy=l)— 4,136 76 76 54 | M 59f#
Y3030 LA () 5,184 1,728 1,728 1,728/ BA 3kg
41806 | 7= A A 55, 944 864 497 497 | BN 94% v h
46108 | EMIZONFE 93, 215 335 324 270 | B 2948y 7
71011 | A S L —3 11, 470 22 12 9| BN 8004
71070 7 U =7 2,938 17 17 17| BH 1704
71150 Ui 648 32 32 32 &N 205K
71233 ETM 1,296 648 648 648 | BN 26k
53456 7~ A RiE 4 1,166 292 292 292 | BN 4kg
53101 1F LKAR 1 756 756 756 756 | 5 lkg
Y5010 Dbsx () 3 1,604 486 486 486 | BN 3kg
30100 |72V Z A 3L 4,234 86 76 413\ EIRE 704
30100 |72V Z A 2, 052 324 216 216 | RS 97 — %
30300 A% L 10, 800 1, 080 1, 080 1,080 | IR & 104 — A
30300 | A% 2,160 216 216 216 | RS 1043
30600 NLAZ A 2S 432 432 432 432 |8 17 —2
31100 H¥E M 5, 832 972 648 648 | F Ik 84—
31200 |13 648 32 32 32 ERE 2048
33500 | YT FE L 389 32 32 32 |18 1248
33810 HHEE 2,376 1,188 1,188 1,188 |fEIRE 24— 2
33810 FHAHHE 1, 296 65 65 65 | BBV 204%
31700 | XY 2, 268 648 324 324 | BIRE 54—
31800 EFHNAE 2,700 108 108 108 | #& 254%
31800 EHNAE 2,160 | 108 108 108 | & 204%
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32800 1T 4 1, 350 38 32 32 |'E W 4031
34300 7 2L 20 5, 994 1,512 1,512 1, 458 | REA A —2Z
34300 | 729 L 10 4, 320 2,160 2,160 2,160 REA 24— A
34400 k=< k 28 4,212 756 540 540 | REA T —
34460 I=L F L M 8 8, 003 205 205 205 | B R 39,8y 7
34100 &R L 20 8, 424 2, 160 2,160 2,052 | EIRE 44— R
34100 HAM M 40 15, 552 1,944 1,944 1,944 | ‘=I5 84—
34100 #AK 10 1, 890 1,080 810 810 | IR S 24%
34200 @I 20 2, 808 140 140 140 | == —— 20kg
7K |
34571 T U A () 1 864 130 119 119 |&&E E
34572 T Y H () 1 821 130 108 108 | i [H 718
37200 L Xk 928 2L 8 2, 862 1,458 1, 458 1,404 | [H 24— &
33410 H=—LF R L 3 162 11 11 11 | & 150#
33420 Y —rU—TLHR L 6 810 32 32 22| BERE 301#
32900 LY — 1 162 162 162 162 | {&H N
133600 |,k Y 1 151 43 43 32 | & [ 448
33300 Tuval— 6 1,512 76 76 76 |BEA 201E
38100 (A LWiziF 10 6, 264 65 65 59 | B IR 100/%y 7
31310 AT 4 216 11 11 11 |$& [ 204%
31500 /PAE 16 3, 888 54 54 43 | 1& 8048
32500 |A0iE 2 378 22 22 16 | EIRE 203K
36340 | B LN ZHEE 2L 5 1, 350 270 270 270 | ER B ‘5kg
37560 | BBIT 2, 246 270 194 194 | K4y 108y 7
36400 |72V 2L 10 4, 320 4, 320 4,320 4,320 | HF 11—
| 38400 ZODEH 1, 458 29 29 29 | KI5 5048
138604 ) L XFH 3, 402 113 113 113 | {& @ 3048
41410 (LEY 15 10,584 | 10,584| 10,584  10,584|7 AV H 14 —2R
41480 | L b 15 4,374 1,458 1,458 1,458 |REA 34— A
Y4017 H 5T 30 3,996 1, 404 1,296 1,296 | REF 3 —2
46108 | X II O EE 5 2, 765 173 173 173 | EERE 1673 7
49100 NFF 180 30, 132 2,052 2,052 1,728|7 4 VB 1564 —2R
49300 (¥ 4 TNA—Y 10 5, 832 2,916 2,916 2,916 | EhE 24— A
Y5006 | 3&5R (&) 100 25,704 | 2,678 2,678 2,408 \FEEE 104 — A
Y5006 |EBIR (&4h) 56 13, 046 166 166 153 |REVE & 80/ 7
L aF 1,839 450, 890




